18'~0"

110" R o S ,
{ 8 HL x 2 /7 W x 1/8 THK.
3/8 o BOLT STEEL TABS ——— |
(TYP. 4 PLACES) G
STEEL PM¢/ —/ i
L |
- N
“~ -
N-\\ 4-—»—-—-4{ ///Q
\ { : //,
% L 1T ~~4 ¢ - 2
/ i \\ . 1 in
AT N |
7"x2"x16 GA. CROSS TUBE BRACE
(FOR PLYWOOD ATTACHMENT)
SCALE: 1/7 = 1'—-0
18'-Q"
MIN. OF 6 FT. LEVEL
LANDING BEYOND THE
END OF RAMP 11°=0" ¥ 7
| PLASTIC END
o CAP (TYP)
\2/
12" e
N - i l 5
<
N / =,
o z [ ]
. <3 ™~
of N ~ B -
1 PLASTIC END . SLOPE ———" ?
M cap (TVP) | - AT E— —¥,
N . h § 7 V
b S / E » !
| | 10N > /G : / 1/2°x1 1/2°x 16 GA. BRACE
THE FiNISH FLOOR OF THE @ = 8 AT EA. UPRIGHT. TUBE

RAMP MUST REACH FLAT

SURFACE OF FINISH GRADE

OF THE SITE. SEE DETALL
3 AND 5.

ADJUSTABLE LEGS

1 1/2°x1 1/2°x 12 GA.
UPRIGHT TUBES W/
1 1/4°x1 1/4x 16 GA.

FRONT ELEVATION

SCALE: 1/7

s R
-
-

e

6 x4 x10 GA. PLATE
W/ (2) 1/&exT
LAG SCREWS

LANDING

BUILDING WALL

BUILDING PERIMETER
/ FRAME
_—

pN

J\ BUILDING FOUNDATION

-

LANDING TO BUILDING

Y KEY NOTES

1. UPRIGHT TUBE — 1 1/2" x 1 1/2° x 12 GA. SQ. TUBE. (Fy = 39 ksi)

N T o

. ADJUSTABLE LEGS — 1 1/4" x 1 1/4

HANDRAIL TUBE — 1 1/2° x 1 1/2° x 16 GA. SQ. TUBE. (Fy = 39 ksi)
RAMP PERIMETER TUBE — 1 1/2° x 1 1/2° x 16 GA. SQ. TUBE
LANDING PERIMETER TUBE — 2° x 2 x 16 GA. SQ. TUBE

RAMP CROSS TUBE — 1 1/2° x 1 1/2° x 16 GA. SQ. TUBE

LANDING CROSS TUBE -~ 2" x 2° x 16 GA. SQ. TUBE

3/4 PLYWOOD DECK W/ NON SKID SURFACE (TUF TREAD OR EQUAL)

16 GA. SQ. TUBE W/ 3'x6"x1/4" THK. BASE PLATE WELDED
TO LEG BASE PLATE TO HAVE (2) 5/16" HOLES FOR 1/4

LAG BOLTS.

9. SUPPORT PLATE — 1 1/4 x 1/8 THICK PLATE

10. WHEELCHAIR RAIL — 1" x
UPRIGHT MEMBERS.

11. 3/8 DiA. MACHINE BOLTS. *

1" SQ. TUBE TACK WELDED TO

12. 6" X10°X10GA, PLATE W/ (2) 1/47¢X3} LAG SCREWS.

13. CONT. SiLL. PLATE 2x6 P.T.H.F.
14. SKIRTING -~ SAME AS BUILDING FINISH

15. HANDRAIL MOUNTING BRACKET W/ 3/8°¢ x 4" LAG BOLT

TO STUD OR BLOCK.

16. DRIVE 1” DIA. x 15" G.. PIPE AT 10°'~0" MAX. DRILL SiLL
PLATE 1 1/2° DIA. MAX. HOLE. PIPE MAY BE DRIVEN AT A

MAX. OF 45 ANGLE W/ VERTICAL.

17. THE STRENGTH OF STEEL TUBES IS 46000 PSI OR HIGHER.

EXTEND HANDRAIL 127

b e BEYOND END OF RAMP /HANDML LOCATION
1:20"
i 1 420 LEVE
YR muo%nc SLOPE 1:12
i B R ———.
. 4 < 1 v

Z;f OTHERS \-Buswmc

]

BOND LANDING FRAME TO BUILDING
FLOOR FRAME W/ #8 BARE COPPER
WIRE USING OFFSET COPPER LUGS

" HANDRAIL LOCATIONS

CAULKING

/- 26 GA. FLASHING
#14 x 1" TEK
SCREWS AT 6 0/C

_—®

e SKIRTING

B
HING

i

3/8% BOLT THRU '
BOTH LEGS SEE DET. #2—

SIDES

‘BOTH l/1/8"

&0

1
L
4{’/L

i

‘t/B"V

EDGE OF BUILDING

34" ABOVE .RAMP

- 8'x1/8° STEEL PLATE

o

1]

5

ZZ /\3\1 AT AU A A LS D L A L O NN AL S A Lkt B ER N RS
v ¥ i i

SECTION AT RAMP e

3/8'9 MACHINE BOLT/
AND NUT — S

6 x10 GA. PLATE W/ 3/8'x3
LAG SCREWS AT 9" 0.C INTO
STRUCTURAL WOOD MEMBERS
OR #i4x1 1/7° SELF TAP
SCREWS AT 1Z° 0.C INTO
STRUCTURAL STEEL MEMBERS.

Sams vae ol aes o s AU ous

Rl

RV 1

A

POST TO HANDRAIL

NOTE: '
RAMP TERMINATES 3 1/8° ABOVE
GRADE. TRANSITION FROM END OF

RAMP BY DISTRICT. : .

1 /8 M" AT 12 OC. S \
RAMP / LANDING TRANSITION[8]  DECK & JOIST CONN.  [6 RAMP TO BUILDING [+

6 LEVEL CONCRETE

OR ASPHALT LANDING
(BY OTHERS)

CONC. LANDING TO RAMP [5

AGENCY TRACKING No, 83321-154

FILE NO. 15-6

IDENTIFICATION STAMP
Div. OF THE STATE ARCHITECT
OFFICE OF REGULATION SERVICES

AC FLS SS

DATE _

LERRBEGWUESTY .
E288 55027 )
E:jn_ 7_5&3; g -t
0PTEIE595%0 prd
15m<80~o;—-§ 129 —_—
Bn - e32%edc 3%
ZalBSw aZuZu T
<zz 1*&41,0000 -
z<§-—“—§z§ @ & <(
OYTII=Fa £ & =
2E5%F WEQUWOW P
<__.°o£mw§.,-<o<o = ®
EaezzZQ 4 & & —o 2
wlE<QEzrlzaza Q J
’;:'I > a%oxwuwm <(g!‘ 2
25082 EE6DEHE Z.R
gep eosiritl M\ J JEso
EEQEZuu, Zololl Ll g 3
O 00O %(ﬁ [« <]
Oes™ @ mzz-—'g I“" W
%080:2““'2,‘!0(“'(:3' < 3
E5E"oCuwoL IR T =%,
W L L ; £
TIOEWE, L 6 L = g
i3 YegIZIZ Ll &
cgpzsbraze . P g s
e essBrgioss X =%
Ezn62z886%2323 . —* 7
Ouw 8
SR
Tsg
J v £ o
<f . s~
3 xru
o o &
o i
0. a
< a
é : O
= =
I
Q
o
<
o
2
’,—.—
w
w
o
L
L
<
L&)
=
] L
) Y
o
-
f—
O
-2
1 4
—
w
=
<
Q
o
0.
Q.
< O
> -
o oz n
=
& <t 0O =
O X X
< w:) Y
L < (0 o
Sl 83 3
O N
- *O Z
o
7)) 3
< = )\\9 O
2 aﬁz'\v N MO Z
3| |ezz|m |30 . Z
s |[zE3|S| 23
2 o |2uB|~=]2 ~ 0 3
Sw gz Vv [ EXN] O O
- A BN ENAN | DY o
z  |E5 =
o |2°%ulO | = =
> 9 S Lol
O = =i = O <
g ak 0 < -
Z w o < 8 o
¢ = £ =
‘ 0. e
JOB §
1 JDATE
" < 1-9-98
foted @)
W2 & BDRAWN BY
GEL Q. R.D.L
Ayl m_ [3 " £1 =9
e <
gg;g- >_ SCALE
G“‘?ﬁ prd :
gg %g APPROVED
ot :
ﬁgg. < .
35 i EREVISIONS
e <
'—
o)
<
&
s ﬁ 3
LA | =<
SEATONAN) (- | I
L1340 w
hEzits vy
At 1 P
geEio | |-ff ©
g =
}Egg o ﬁfr &%
o el Qe k
25— I u|  SHEET NO.
SNy B |
2 TR &“‘ L 2% Y -”2‘ ‘é" ‘(}.—)

< — |

/f

!
£




	03-117035-067.pdf

